Notes Answers


Chapter 18 Dividend Policy
Answer 1
A number of factors should be considered in formulating the dividend policy of a stock-exchange listed company, as follows.

Profitability

Companies need to remain profitable and dividends are a distribution of after-tax profit. A company cannot consistently pay dividends higher than its profit after tax. A healthy level of retained earnings is needed to finance the continuing business needs of the company.


[1 – 2 marks]
Liquidity

Although a dividend is a distribution of profit, it is a cash payment by the company to its shareholders. A company must therefore ensure it has sufficient cash to pay a proposed dividend and that paying a dividend will not compromise day-to-day cash financing needs.


[1 – 2 marks]
Legal and other restrictions

A dividend can only be paid out in accordance with statutory requirements, such as the requirement in the United Kingdom for dividends to be paid out of accumulated net realised profits. There may also be restrictions on dividend payments imposed by, for example, restrictive covenants in bond issue documents.


[1 – 2 marks]
The need for finance

There is a close relationship between investment, financing and dividend decisions, and the dividend decision must consider the investment plans and financing needs of the company. A large investment programme, for example, will require a large amount of finance, and the need for external finance can be reduced if dividend increases are kept in check. Similarly, the

decision to increase dividends may reduce retained earnings to the extent where external finance is needed in order to meet investment needs.


[1 – 2 marks]
The level of financial risk

If financial risk is high, for example due to a high level of gearing arising from a substantial level of debt finance, maintaining a low level of dividend payments can result in a high level of retained earnings, which will reduce gearing by increasing the level of reserves. The cash flow from a higher level of retained earnings can also be used to decrease the amount of debt being carried by a company.


[1 – 2 marks]
The signalling effect of dividends

In a semi-strong form efficient market, information available to directors is more substantial than that available to shareholders, so that information asymmetry exists. This is one of the causes of the agency problem. If dividend decisions convey new information to the market, they can have a signalling effect concerning the current position of the company and its future prospects. The signalling effect also depends on the dividend expectations in the market. A company should therefore consider the likely effect on share prices of the announcement of a proposed dividend.


[1 – 2 marks]
Answer 2
(a)

Echo Co paid a total dividend of $2 million or 20c per share according to the income statement information. An increase of 20% would make this $2·4 million or 24c per share and would reduce dividend cover from 3 times to 2·5 times. It is debatable whether this increase in the current dividend would make the company more attractive to equity investors, who use a variety of factors to inform their investment decisions, not expected dividends alone. For example, they will consider the business and financial risk associated with a company when deciding on their required rate of return.
It is also unclear what objective the finance director had in mind when suggesting a dividend increase. The primary financial management objective is the maximisation of shareholder wealth and if Echo Co is following this objective, the dividend will already be set at an optimal level. From this perspective, a dividend increase should arise from increased maintainable profitability, not from a desire to ‘make the company more attractive’. Increasing the dividend will not generate any additional capital for Echo Co, since existing shares are traded on the secondary market.
Furthermore, Miller and Modigliani have shown that, in a perfect capital market, share prices are independent of the level of dividend paid. The value of the company depends upon its income from operations and not on the amount of this income which is paid out as dividends. Increasing the dividend would not make the company more attractive to equity investors, but would attract equity investors who desired the new level of dividend being offered. Current shareholders who were satisfied by the current dividend policy could transfer their investment to a different company if their utility had been decreased.
The proposal to increase the dividend should therefore be rejected, perhaps in favour of a dividend increase in line with current dividend policy.
(b)
1.
The proposal to raise $15 million of additional debt finance does not appear to be a sensible one, given the current financial position of Echo Co. The company is very highly geared if financial gearing measured on a book value basis is considered. The debt/equity ratio of 150% is almost twice the average of companies similar to Echo Co. This negative view of the financial risk of the company is reinforced by the interest coverage ratio, which at only four times is half that of companies similar to Echo Co.
2.
Raising additional debt would only worsen these indicators of financial risk. The debt/equity ratio would rise to 225% on a book value basis and the interest coverage ratio would fall to 2·7 times, suggesting that Echo Co would experience difficulty in making interest payments.
3.
The proposed use to which the newly-raised funds would be put merits further investigation. Additional finance should be raised when it is needed, rather than being held for speculative purposes. Until a suitable investment opportunity comes along, Echo Co will be paying an opportunity cost on the new finance equal to the difference between the interest rate on the new debt (10%) and the interest paid on short-term investments. This opportunity cost would decrease shareholder wealth. Even if an investment opportunity arises, it is very unlikely that the funds needed would be exactly equal to $15m.
4.
The interest charge in the income statement information is $3m while the interest payable on the 8% loan notes is $2·4m (30 x 0·08). It is reasonable to assume that $0·6m of interest is due to an overdraft. Assuming a short-term interest rate lower than the 8% loan note rate – say 6% – implies an overdraft of approximately $10m (0·6/0·06), which is one-third of the amount of the long-term debt. The debt/equity ratio calculated did not include this significant amount of short-term debt and therefore underestimates the financial risk of Echo Co.
5.
The bond issue would be repayable in eight years’ time, which is five years after the redemption date of the current loan note issue. The need to redeem the current $30m loan note issue cannot be ignored in the financial planning of the company. The proposal to raise £15m of long-term debt finance should arise from a considered strategic review of the long-term and short-term financing needs of Echo Co, which must also consider redemption or refinancing of the current loan note issue and, perhaps, reduction of the sizeable overdraft, which may be close to, or in excess of, its agreed limit.
6.
In light of the concerns and considerations discussed, the proposal to raise additional debt finance cannot be recommended.
Analysis

Current gearing (debt/equity ratio using book values) = 30/20 = 150%

Revised gearing (debt/equity ratio using book values) = (30 + 15)/20 = 225%

Current interest coverage ratio = 12/3 = 4 times

Additional interest following debt issue = 15m x 0·1 = $1·5m

Revised interest coverage ratio = 12/(3 + 1·5) = 2·7 times
(c)

Analysis

Rights issue price = 2·30 x 0·8 = $1·84

Theoretical ex rights price = (1·84 + (2·30 x 4))/5 = $2·21 per share
[1 mark]
Number of new shares issued = (5/0·5)/4 = 2·5 million

Cash raised = 1·84 x 2·5m = $4·6 million
[1 mark]
Number of shares in issue after rights issue = 10 + 2·5 = 12·5 million

Current gearing (debt/equity ratio using book values) = 30/20 = 150%

Revised gearing (debt/equity ratio using book values) = 30/24·6 = 122%

Current interest coverage ratio = 12/3 = 4 times

Current return on equity (ROE) = 6/20 = 30%
In the absence of any indication as to the return expected on the new funds, we can assume the rate of return will be the same as on existing equity, an assumption consistent with the calculated theoretical ex rights price.
After-tax return on the new funds = 4·6m x 0·3 = $1·38 million

Before-tax return on new funds = 1·38m x (9/6) = $2·07 million

Revised interest coverage ratio = (12 + 2·07)/3 = 4·7 times
1.
The current debt/equity and interest coverage ratios suggest that there is a need to reduce the financial risk of Echo Co. A rights issue would reduce the debt/equity ratio of the company from 150% to 122% on a book value basis, which is 50% higher than the average debt/equity ratio of similar companies. After the rights issue, financial gearing is still therefore high enough to be a cause for concern.
2.
The interest coverage ratio would increase from 4 times to 4·7 times, again assuming that the new funds will earn the same return as existing equity funds. This is still much lower than the average interest coverage ratio of similar companies, which is 8 times. While 4·7 times is a safer level of interest coverage, it is still somewhat on the low side.
3.
No explanation has been offered for the amount to be raised by the rights issue. Why has the Finance Director proposed that $4·6m be raised? If the proposal is to reduce financial risk, what level of financial gearing and interest coverage would be seen as safe by shareholders and other stakeholders? What use would be made of the funds raised? If they are used to redeem debt they will not have a great impact on the financial position of the company, in fact it appears likely that that the overdraft is twice as big as the amount proposed to be raised by the rights issue. The refinancing need therefore appears to be much greater than $4·6m.
4.
If the funds are to be used for investment purposes, further details of the investment project, its expected return and its level of risk should be considered.
Conclusion:

5.
There seems to be no convincing rationale for the proposed rights issue and it cannot therefore be recommended, at least on financial grounds.

[Maxi. 7 marks]
(d)

1.
Operating leasing is a popular source of finance for companies of all sizes and many reasons have been advanced to explain this popularity. For example, an operating lease is seen as protection against obsolescence, since it can be cancelled at short notice without financial penalty.
2.
The lessor will replace the leased asset with a more up-to-date model in exchange for continuing leasing business. This flexibility is seen as valuable in the current era of rapid technological change, and can also extend to contract terms and servicing cover.
3.
Operating leasing is often compared to borrowing as a source of finance and offers several attractive features in this area. There is no need to arrange a loan in order to acquire an asset and so the commitment to interest payments can be avoided, existing assets need not be tied up as security and negative effects on return on capital employed can be avoided.
4.
Since legal title does not pass from lessor to lessee, the leased asset can be recovered by the lessor in the event of default on lease rentals. Operating leasing can therefore be attractive to small companies or to companies who may find it difficult to raise debt.
5.
Operating leasing can also be cheaper than borrowing to buy. There are several reasons why the lessor may be able to acquire the leased asset more cheaply than the lessee, for example by taking advantage of bulk buying, or by having access to lower cost finance by virtue of being a much larger company.
6.
The lessor may also be able use tax benefits more effectively than the lessee. A portion of these benefits can be made available to the lessee in the form of lower lease rentals, making operating leasing a more attractive proposition that borrowing.
7.
Operating leases also have the attraction of being off-balance sheet financing, in that the finance used to acquire use of the eased asset does not appear in the balance sheet.

[6 marks]
Answer 3
Miller and Modigliani showed that, in a perfect capital market, the value of a company depended on its investment decision alone, and not on its dividend or financing decisions. In such a market, a change in dividend policy by DD Co would not affect its share price or its market capitalisation. They showed that the value of a company was maximised if it invested in all projects with a positive net present value (its optimal investment schedule). The company could pay any level of dividend and if it had insufficient finance, make up the shortfall by issuing new equity. Since investors had perfect information, they were indifferent between dividends and capital gains. Shareholders who were unhappy with the level of dividend declared by a company could gain a ‘home-made dividend’ by selling some of their shares. This was possible since there are no transaction costs in a perfect capital market.
Against this view are several arguments for a link between dividend policy and share prices. For example, it has been argued that investors prefer certain dividends now rather than uncertain capital gains in the future (the ‘bird-in-the-hand’ argument). It has also been argued that real-world capital markets are not perfect, but semi-strong form efficient. Since perfect information is therefore not available, it is possible for information asymmetry to exist between shareholders and the managers of a company. Dividend announcements may give new information to shareholders and as a result, in a semi-strong form efficient market, share prices may change. The size and direction of the share price change will depend on the difference between the dividend announcement and the expectations of shareholders. This is referred to as the ‘signalling properties of dividends’.
It has been found that shareholders are attracted to particular companies as a result of being satisfied by their dividend policies. This is referred to as the ‘clientele effect’. A company with an established dividend policy is therefore likely to have an established dividend clientele. The existence of this dividend clientele implies that the share price may change if there is a change in the dividend policy of the company, as shareholders sell their shares in order to reinvest in another company with a more satisfactory dividend policy. In a perfect capital market, the existence of dividend clienteles is irrelevant, since substituting one company for another will not incur any transaction costs. Since real-world capital markets are not perfect, however, the existence of dividend clienteles suggests that if DD Co changes its dividend policy, its share price could be affected.
Answer 4
Explanation of scrip dividend

A scrip (or share) dividend is an offer of shares in a company as an alternative to a cash dividend. It is offered pro rata to existing shareholdings.

[1 – 2 marks]
Advantages of scrip dividend

· From a company point of view, it has the advantage that, if taken up by shareholders, it will conserve cash, i.e. it will reduce the cash outflow from a company compared to a cash dividend. This is useful when liquidity is a problem, or when cash is needed to meet capital investment or other financing needs.
· Another advantage is that a scrip dividend will lead to a decrease in gearing, whether on a book value or a market value basis, because of the increase in issued shares. This decrease in gearing will increase debt capacity.

[2 – 3 marks]
Disadvantages of scrip dividend
A disadvantage of a scrip dividend is that in future years, because the number of shares in issue has increased, the total cash dividend will increase, assuming the dividend per share is maintained or increased.

[2 – 3 marks]
Answer 5
(a)(i)

Dividend policies followed by AB and YZ

Payout and price earnings ratio
	
	AB
	YZ

	
	Payout %

DPS/EPS
	P/E
	Payout %

DPS/EPS
	P/E

	2006
	26
	9.1
	40
	9.2

	2007
	40
	10.0
	40
	10.6

	2008
	60
	10.0
	40
	15.6

	2009
	-
	-
	-
	-

	2010
	60
	10.0
	40
	13.9

	2011
	40
	9.3
	40
	11.7



[2 marks]
AB’s dividend policy

Over the past six years, AB and XY have had virtually identical EPS, but have had different dividend policies. AB has paid constant DPS, maintaining its dividend during the period of falling profits from 2006 to 2009, but not increasing them when profits recovered in 2010 and 2011. This has resulted in an overall average dividend payout ratio over the six year period of 60% of earnings.


[1 mark]
YZ’s dividend policy

By contrast YZ has maintained a consistent dividend payout ratio of 40% of equity earnings each year, the only exception being in 2009 when losses were made and no dividend was paid.

Both companies operate in the same industry and have similar capital structures and, as stated above, virtually identical earnings records. However, throughout the six year period YZ has had a consistently higher share price (and hence lower cost of capital) than AB. On average, YZ’s share price has been 17% higher. This seems to provide evidence that the constant payout ratio policy of YZ has been superior to the constant dividend policy of AB. This may also be confirmed by events in 2009, when YZ made a loss, failed to pay a dividend and its share price declined by 35%, whereas AB’s share price only fell by 20%.


[2 marks]
Other factors

The share price will not only be determined by dividend policy. If the market is well informed about the investment policy, it may value YZ higher, because AB has, by paying a constant dividend, reduced the amount of funds invested and therefore limited future earnings. The market may also feel generally that YZ’s overall strategy is superior, for example that the rights issue was a good decision despite being launched just after YZ had made a loss.


[1 mark]
(a)(ii)

Is there an optimal dividend policy?

Modigliani and Miller’s theory (M&M)
M&M theory of dividend irrelevance suggests that the value of two companies’ shares should be identical, because share value depends on the present value of future cash surpluses generated, not on the manner in which they are distributed. This theory has been criticized because of its unrealistic assumptions:

· Perfect capital markets, with no transaction costs

· Investor indifference between dividends and capital gains

· Full information about future investments

In theory companies either have positive NPV investments that they should finance by retained earnings, thus paying zero dividends, or they have no investments, in which case all earnings should be paid dividends. In practice they do not do this.


[2 marks]
Signalling

The traditional view that dividends act as a signal to shareholders has led to widespread adoption by companies of policies of constant dividends or constant growth in dividends. Under such policies, dividends never reduced unless it is really unavoidable. Yet although AB has followed such a policy, it has led to a lower share price than that of YZ, thus offering some evidence against the effectiveness of this strategy.


[1 mark]
Agency theory

Agency theory predicts that payment of dividends helps to reduce the agency conflict between shareholders and managers. This might work in several ways. In general, the higher the dividend, the lower the agency costs (favouring AB over YZ), but it may be that in paying a dividend which is a fixed percentage of profits, YZ’s managers are demonstrating that they are aware that profits belong to the shareholders. This may result in lower agency costs for YZ than for AB, and hence a lower cost of capital and higher share price.

To maximize share values, AB’s directors should ensure that they always keep shareholders informed about company plans and results. Their current policy of constant dividends could be regarded as an attempt to hide operations from shareholders.


[2 marks]
Taxation

Tax regimes where dividends are taxed at a higher effective rate than capital gains tend to make high dividend pay-outs disadvantageous.


[1 mark]
Conclusion

In summary, there is no simple solution to an optimal dividend policy. Some shareholders are likely to prefer dividends, some eventual capital appreciation.

(b)

Share repurchase

1.
How a share repurchase may be arranged
Special resolution

If permitted by its articles, AB may pass a special resolution to authorize the company to buy back some of its shares, but it cannot do so if this would leave only redeemable shares in issue. The terms of the special resolution will depend on whether it is a “market purchase” (that is, an open market purchase made on the stock exchange), a tender offer to all shareholders or an individual arrangement with certain shareholders.


[1 mark]
Treatment of shares purchased

Generally, when a company purchases its own shares, the shares are cancelled on their return to the company. However, a listed company may be able to hold the shares “in treasury” for resale or transfer to an employees’ shares scheme at a later date.



[1 mark]
2.
Main reasons for a share repurchase
Use of surplus cash

AB will have more cash than is needed for its investments and must therefore choose what to do with its surplus cash. The cash could be used to increase the dividend. However, companies like AB, which maintain a steady dividend policy, usually take view that when a dividend is increased this will lead the shareholders to expect a similar increase in future years.


[1 mark]
If AB is not sure that this increase can be maintained, it will keep the dividend constant and use one of a number of alternative actions including purchasing own shares or repaying debt. Repayment of debt is the most common approach used by companies like AB, but if this is not feasible (e.g. because of high termination costs) they may choose to repurchase shares. The repurchase of shares will signal a “one-off special payment” to shareholders rather than trigger expectations of a permanent increase in dividend.


[1 mark]
Reduction of future total dividends

If the company is maintaining levels of dividend per share, then fewer shares will mean smaller total dividends.


[1 mark]
Enhancement of earnings per share

Fewer shares will mean an enhancement of EPS, perhaps resulting in an increased market price per share.


[1 mark]
Control

By buying out problem shareholders, those currently in control of the company can improve their position. One consequence may be that AB becomes less vulnerable to a hostile takeover bid.


[1 mark]
Tax position of shareholders

Shareholders may be better off tax-wise than if they receive a higher dividend. A share repurchase may lead to a capital gains tax liability; however a special dividend will attract a (possibly higher) income tax liability.


[1 mark]
Effect on cost of capital

Repurchase of shares will increase the company’s gearing, possibly ensuring that the company is nearer an optimal gearing level, thus lowering the cost of capital.



[1 mark]
3.
Potential problems
Lack of new ideas

Purchase of own shares may be interpreted as a sign that the company has no new ideas for future investment strategy. This may cause the share price to fall. Other shareholders may, of course, be thankful that the management is not gambling shareholder funds in areas it knows little about. They may consider that they can diversify more effectively than AB.


[1 mark]
Costs

Compared with making a one-off extra dividend payment, purchase of shares requires more time and transaction costs to arrange. It may require more cash than the company has available.


[1 mark]
Shareholder consent

Shareholders will have to pass a special resolution and it may be difficult to obtain their consent. Determining the right price may be difficult.
[1 mark]
Agency theory
Agency theory would explain a preference for dividends by saying:

(a)
Shareholders need a commitment by company management that they will distribute free cash flow and not invest it in unprofitable activities

(b)
In this regard dividends are perceived as a stronger commitment than the repurchase of shares.


[1 mark]
Gearing

If the equity base is reduced and gearing is increased, then shareholders’ financial risk may be increased.



[1 mark]
4.
Effect on share price
In theory in a perfect market shareholders should be indifferent between a repurchase of own shares and a dividend.

However in practice the market’s reaction may be difficult to predict, depending on how the market views an increase in EPS, versus the market believing that a repurchase demonstrates a lack of future opportunities and hence limited prospects of future increases in EPS. If the cash is not reinvested for growth the share price will fall and/or the company may be subject to a takeover bid.



[1 mark]


[Maximum 13 marks]
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